T HDAETTE

HETERILETRIR T FMR 2072, 2073-1,

2073-2. 2073-1.

T #t F

y

2074-10—%8 R U KEE 7
ZHE%R6. 4. 24
YEfLEL Y X B e
= R E =
BEfRS I EAmatEXE ARZERERE (70.7200)] B4 XJREA Y 7 JEERE ﬁﬁigg}g Faﬁ%ﬂq:_.r
B SAL B LR | GEfLS) A 140429. 167 33625. 906 | 10. 335 (IP=23. 445) KERIED. 12 £ A
) 7 LWEOIRE T L SMFERAT BT L 4 (L) A 140375. 104 33648. 677 | 10.00 (TP=23.780)
PROE &2 T B E = L BEERT 5. —
REAQEHITXE %. 2074-9 = )
SRR et e, s, 2074-3 = e e
BER cm v -_
BB REBN > — R ETTHD 2075-6 =t 2074-1 =
FENOBABEMOBERS LS &l BEBIBLIE, ) )
FERNOMAL (—PRTEE) £95 FH=9, 10~FH=0.20 #1036
BRI 5L THEWAE R (< IR B RS OBMRERIC CTRERORTLET 5. 2075_7 Eih Z D FH=10.10~10.38 )
R 5 DFKIEEGHLBRCHE > TRBIHE e L~ REREERT 5. 12.36m 7K 14.15m NK
FELTORMMREL mULERT &, L=31.118 : — FHLHEEITFH=10. 10 1= HEKE = 2 l / 500x 500 x 1400
BATERBUENICREL TN L, BACHREE 1 A9, 90 1=30. 663 Eﬂi‘eﬁéﬁg g FL—FV4T-14
EEMFINTRECELATHEITS L. 15% +9. 42 S 9.6 HLEREIRFH=10. 20 1d 335
Ays—EBRORAEDRABAZI OV TRENELAVKSISETIT 5 & .L §1 £3.58 ] A R]lwn et T ) ok :
FEREN : FF ALMEET LERERI5 92n BEEE62 93m BIS-8 85558 A T Ao —— KB BT ) ki eriog 04099 - ' e
NG ‘ = I {nf .
T | B.805 || | ey
L @ﬂﬁﬁ o s ‘3
o 1
D 2075-1 /35010,
= : S ~ = s
kA g ‘ § W 5 T = i
? ‘ o~ g% g & g5 g
4 o Al st s[— s
Fo=r ge ||Sh i i Bz i A S =)
Frwioe | RARAD e ||[® £ = i o
B FEEEDP200 1%L E LI - " | Y
LEE ‘ |
‘ ‘ 5 L—F24T-14 _ Lo EF| =
BEROB0N S FV{81;%400 x 400~1100 L=90. 230 i=0.31% / nﬁ
. VPO150 i=1%LlE sl i \ ¢l ‘ f
(& Y0 8n LI, > S1 f i i f I [ f f B I =] e ] Fem1 F—F——F—F==1
iBf=&h15cm aAvyy— rRE =
gl 'S N
#KEPEP20 - Bk §§| - r 8 s
HE|R i S
Q?é ¥ ft
e =
VI =L Hy
B U i A B - e - i
PKiEE K L 50 x 25974 b, PEPO 2! ‘i fﬁ
8.58 S| o
2 ‘ L s oI 1
IR 7 ||| W gl S|z S —
5 PO e g o|# ] T
o || B I O R N R i i i .
/7VT77 | e mERAIE300 - 400 S S i B =2
,_’m > s F
4 , " =
2071 =
B PR S
GAH) H
~| N2
QE‘N‘A """" = =] : =
5 _ BASEE R
&l g 809. 61ni
o || g I
LR o BRI~ rs&m 10,10
mf* 8 e == == = _ -

VPE D200 (3 %) L=0.668i =2.99%

b

i

- H=10]10 K
JE,J HIEEY 953

ot EF—

FH=9. 60

HklE1

27.05mf |5 1
76 2
i
=
£ 7
R
e

8.76

L=17.
BRI

F A BERETRIFH=9. 90

9.01

BRYY-p2E

F HER#6%IFH=10. 10

L=17. 745
BRII-14E
554 oi

H—F 7z 2 ZH1200

(i zav:s&nézxm"

9.35
/8. 96

15
ﬁﬂ%ﬂ({ﬁB 39 BI4=8 Ay

7}<E§ 8 36

Z 18— R—IL

S=1:300

1208-3 =

1208-1= |

8.93 L= =
910 1=48.113 1=20. 356
H— K2z 2 ZH1200
— L —
8. 96

"

~10.01

BM3=10. 00
TP 23. 780

— S — O S

~
7

NG

H- ¥ msss |
H- i S i SN H-

O—Fmo oo~ HE Az

=5
H
iz

| 18 HYRE

&)




